EARAROBREBRT —5 XN—ZXBISH—F 20241858 (&) 18EHAE1TH

M EXEFE C2 USSR (ml B | EEE - | 9 w0 @
[AE=) 1 &:35,00H  2&:112,000  / 3%&:63,000 / 47%&:42,000 " . 57&:28,000 M
EERE BRERS MF HE | BF (7B) |IAL (B2 | WEIEN | L3F SR | AR | #E | BRE (B / BE / £EWS
. e B I3 :33. -6-3- 4 - WS (58
11811 7—91vK 7 5% i B Y wEme
RiFRF BAE—TF—IT7— F—L— - Ip )XY - T7—LERE
N s BEE—E :33. -5-6- o0 - JIBZE (k)
2 2 Hr KRR TV 6 E% 1(34339 6-5-6-2 | 40.0 3 fzf; Rea
RIE—UR B:YAYIVITILRA BT 7—L4A
N — . R 34, -5~ 8| - AT (52)
35| LA—UFILY—L w4 | BRE Tt | | Yo @ e
R:O0—RAFO7 B:A—LFUaRI gl S
<, Il : -9-9- = S (52)
4111 | ARAUYTOTA o4 L (11314/2% 109910 1 40.3 ° ?4:) B30 B
RiTpRIVTA BARAIWTSAR FHREHS
— <, i . -§-7- - SIS (5E)
5 3| ANy a—h LR (11315/22) 7ETS 412 6 (4_819) SEwg
RINAVRATERTwY BN—RFAIFRT BEREIS
~ HhEA :35. -3-4- 7| = KBRE (k8)
618112 ISVF v 4 6 54.0I_ 1(13/52)3 3-3-4-8 | 41.7 9 4:8;3 Zais
RiIXYUSTviRk 8B:RAERYY RIS
T T B 35, 7 - BE—X (EB)
70 7| EIVRINS—R AR &7 TS 47 ’ 2”13; EBf38
RS IINS—R BIATSR BEZ Y K
D=0 % 7 | UTEER 1:35.8 1-1-1-3 | 42.3| - 2 511 | KEESK (1)
8 g | 7AA—7TvV—0O 5.0 /2 “2) TESR= LT VTR ()
R:O0—KAHFO07 B:7ROF47> LIRSS
N Bt :36. -11-109 | 41.3| — HHBOAE (£2)
9 4 FE— 4t 4 o 1 (326) 2 11-11-10-9 | 41.3 10 (4&?; iyl =
R:NT B PSETVIN—IL TE%S
4 4 | WWOEL 1:36.2 2-2-2-7 |42.6| — 7 45 | LB (EE)
10{7[10| 17T+ 54.0 (") o) |FRF—
RirALk—L B:ITTTh iR F—
Sy e VA= -37. -10-11- 5 - KIEHE (EE)
nlsls|o—v—rovz o4 | 1(367)3 9-10-11-11 | 42.5 12 (4_225) e
R:E—=FNbO-IL B:D4XU—H-F2 KB F
3 - : T e
wx|7]9 | FULRT4—=UF 5 | A o 1 %)7 TRBA ()
RiBwIP—4— 8:21=7—R/S—b B JE—
@ 11— —®BIEfI
1T=zr= 8,10,12,6,11,2,3,7,5,1,4
23— — 8,10,12,6,2,11,7,3,1,5,4
3a=5r= 8,10,11,12,6,2,3,7,1,4,5
43— — 11,2,8,6,3,7,10,12,4,1,5
o ILRE
B B 1" 130 JA R 2-11 3004 % 5E 2-8 680 3EE 2-6-11 1,960
7B B 1 120M 6-11 310M Fs E 2-11 5909 3EH 11-2-6 4,480
2 160 2-6 960M Ba 11-2 8109
6 300

ABIC OV TRUTEREERRODDZE. THRIIZEL.




